Density

Density

Density

06 08 1.0

0.4

0.2

0.0

00 02 04 06 08 10 12 14

1.0

0.2 0.4 0.6 0.8

0.0

for SD= 1 overall fit, standartized back to a SD=1

-2.0

T T T
-15 -1.0 -0.5

N =1000 Bandwidth =0.08373

0.0

for SD= 0.2 overall fit, standartized back to a SD=1

N = 1000 Bandwidth =0.0675

for SD= 0.05 overall fit, standartized back to a SD=1

N = 1000 Bandwidth =0.1638

Density

Density

Density

00 02 04 06 08 10 12 14

08 10 1.2

0.6

0.4

0.2

0.0

1.0 15

0.5

0.0

for SD= 0.5 overall fit, standartized back to a SD=1

-4.0 -35 -3.0 -25 -2.0 -1.5
N =1000 Bandwidth =0.07417
for SD= 0.1 overall fit, standartized back to a SD=1
| — | | | | | | |
-21.0 -20.5 -20.0 -19.5 -19.0 -18.5 -18.0 -17.5
N =1000 Bandwidth = 0.08366
for SD= 0.01 overall fit, standartized back to a SD=1
i AN _ . _

-210

T
-205

N =1000 Bandwidth = 0.05963




